NOVEMBER 2019

Time : Three hours
SECTION A — (10 x 2 =20 marks)
Ahswer any TEN 'q'ue‘stions.l
1. © What is contract c'ostirig?
RULIBS ‘@u_é;ja;@%nm. TG GTeoTEn ?

\

2. Explain the meaning of work certified.

RUUBS i saellane saméd Lanfl sranpafiiy] arenLicns aflardEs.

3.  Write short note on ‘cost plus contract’;

RULIBSSSIL 6 G&r'ré;esuu.Ll_‘ éu_é;_asaﬁlm'_euu upd GO cuenys.

4. What is process costing?

Uig (Lpanm L &&6ellame eTenmTe) eTaren?

5. How do you treat normal serap realized?

¢

gngyen S06) LML eTeiaITy SaTERHeumii?

6.  What is operating costing?

Qrwpur’ () oiL_sselene SarédLe eremmme ereme?

7.  Explain the meaning of Hospital costing.

LSS i sseflane samédluicien dun@dT oflaré g,

8.  What is contribution?
LBigat UL 6T6mmTed GTeumes?

9. Whatis break-even point? :
siflaLd Ljere cremmmed Greman?

10. Write short note on variable cost.

LrYUGL L sselleanad LDl @ GO eumis.

Maximum : 75 marks
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11.

12.

13.

14.

List out any two objectives of standard costing. _ |

Peovowrar SiLsselma sansdudea gCoaib Qram® Cpréstisdr
cuflensiL(hEsIs. -

What is material cost variance?

epeLQuUTHeT DL && Coumuim(p eTemmmed eresmet ?
SECTION B — (5 x 5 = 25 marks)
. Answer any FIVE questions. |

The following information is rélating to contract No. 123.

Rs..
Contract price 6,00,000
Wages : 1,64,000
General-ex‘pe:nses .8,600 ‘
Raw materials . 1,20,000
. Plant ‘ 20,000

As on date, cash received was Rs. 2,40,000 being 80% of work
certified. The value of Materials remaining at site was
Rs. 10,000. Depreciate plant 10%. Prepare contract account.

@UUBSLD erer 123 &frfrﬁ,g, lémeu(mauLDd S&aIESET

€. .
@UIUBS eflene 6,00,000
snc 1,64,000

Qurg Qseasar 8,600

epals QurmLsdr  1,20,000

SemeuTL_LD ‘ 20,000
;f,rrmrréarg‘j CosPuler smampefssiiu L Geuamenuled 80% QurEsLons
Qupm Qgrews  em.  2,40,000. QsmAdgded . maudmliy
eporiOuTLsaflanr wHLY @. 10,000. Ggiorend 10%. @uubS
SETEG ST Qels. '
Explain the main features of process costing.

Ligpenpé samsSlwuaien (psdw Aplindudysear adlauil.
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23.

24.

Qem@ssiiLl L eleurhiseafal(@pg Gwrss &.08. womb Cumbs
uwentlufler &.5. srewrs.

Cumbaisatier cranmentGans = 5

Qusstiul L prlger(wrsssnE) = 30 priser

geuGleumm CuBBHSID @@ Brenend@ 4 enm Cgenn cubsE!

el Qgrenaey = 20 &.18. (e(m culd)

geulleurm GCLmBSID 50 @HEmasmaT Game(HeTarg)

Cumpgl Lwellger Spaflanr 75% wI HCL LWETLRSSUILIL LG

What are the features of absorption costing?

P I &&5edme SanrédLeie @UICOL|SET WITenel?

From the following particulars, compute material
(a) Cost variance
(b) Price variance
(¢) = Usage variance
Quantity of materials purchased = 3000 units
Value of materials purchased = Rs. 9,000

Standard quantity of materials required per tonne of
output - 30 units

Stan(_lard rate of materials — Rs. 2.50 per unit
Opening stock of Raw materials — Nil
Closing of stock of Raw materials — 500 units
Output for the period — 80 tonnes.

Sparamid efleurmtisated (BB eLpeoLsQlLIm(meT

(1) 2ss Caumur®

(=) eflame CaugyLim(

(@) 2uCwrs Caugur® YyHuieuHans samrsd Hs.
Qamarpge Gl L epaliGLm@,eT Bj6re] — 30()0 Sl GEHET
QamaTapged Qe L (l,pa)ﬂQurr@mﬂein afllenev — ¢. 9,000
@@ Lar 2pusd Qummer QFig wiyss CsmeuliuBibd ST
cramanii&ens epei@urBLaeT - 30 i@ &er.
epelidummLsafier g7 ellane - @ SAHDE 5. 2.50
<LTbU QLY epeoliClLImmaT - qemiusledenen
@Qmd @mLy epeliQummer - 500 i @ser
Cunuly sTesdld 2 hpuss - 80 Lenaser.
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15.

16.

17.

In process A, 100 units at Raw materials at a cost of Rs. 1,000
were introduced. Other expenses were Rs. 602. On the units
introduced 10% are normally lost and sold as Rs. 3 each as scrap.
The output of ‘A’ was Rs. 75 units. Prepare process ‘A’ a/c.

Ligpanp A-ufed 100 @ser (5. 1,000 i sagdle) sésm Gummar
SPPsILOSSILL L g @7 Qeease . 602, sigyfu Gummefla
10% sngryanTons @EQL'M éj[_f)uL@ =g @em . 3 eran allhsuLL g,
Qeual§® 07-G@ A-Wer 2 pusd 75 dw@aser Ugpeon ‘A-eu
swnflés. -

The transport undertaking maintain a fleet of lorries for
carrying goods from Tiruchi to Karur, 100 kms apart. Each lorry
which operates 25 days on an average in a month starts
everyday from Trichy with a load of 8 tonnes and returns from
Karur with a load of 4 tonnes. Calculate the total kms. tonne
kms and cost per tonne km. When the total monthly charges for
a lorry are Rs. 24,000.

HmEA S mipg smise 100 8.5, srsgsmens daran( Cewe Hlapw
orflemer @@m Hmwb Lugmofsg, @eaiCeurm WLIFWL sFrefwurs
25 ‘[r;frv;asdT Quasiul L gaQeurm erfluyn dearapd 8 Lersdr
gewlUT® msAlicer Qmbg Herbid 4 Lemsar smwCWTh Seb[hEE
HHn9 aupss. ewm arfissrar Qorss wrss Qeweyser . 24,000
aefled Quorss Ler .8 wpmd @@ Lar HCor BLL(mEsTar
SLssellamaai SaTSESHLaL.

From the following particulars. Find B.E.P. in units :
Variable cost per unit Rs. 15
Selling price per units Rs. 24

Fixed cost Rs. 54,000

What should be the selling price per unit, if the company wants
to bring down B.E.P. to 9000 units?

Spsrapd  Aurhisaldiphy @oiu FULLHD  Heoliydreiamu
s (H91g.55.
wrouUBL Qgwe| (@ AMGES) . 15

- pueen ailene (@ AVGES) H. 24

Hlaneowirer Qeeweyser m. 54,000

sbOuaf gaig @eru plLwHm, sfsw yeraflaow 9000 e@serts
Qsrarmed, Qummeflar  elpuemenr  eflee  @fFf DG
erenasmeumu(méss Gouamt(Hitd?
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18.

19.

20.

What are the advantages of Standard costing?

flene oiLsaellane Geanrédlwelie Heen DaseT WiTenel?

Product ‘A’ required 10 kgs of materials at the rate of
Rs. 4 per kg. The actual consumption of material for.the
manufacturing of product ‘A’ came to 12 kgs. of materials at the
rate of Rs. 4.50 per kg.

Calculate :

(a) Material cost variance

(b) * Material price variance

(¢c) Material usage variance.

Qumrer ‘Aeows swrfliiugnE HCar ey . 4 Sjateiler 10 HCeorm
epeliQummlser CaenauliLBb. pammed Subummener sumflliLgns
&u@mrra;uu@gguul'_.l_'@urr@f_Q;dT &Germ ¢;.4.50 aigidb 12 SCameurs
SANWHSET. s (. :

(=) epaolummer SLdsellensw wrmiLIT®H

(<) apeli@Qurmer eflenad wrmurQ

(@) epeolumrmer 2 uGurs wrmuT@

SECTION C — (3 x 10 = 30 marks)
Answer any THREE questions.

Following expenses were incurred on a contract which was
started on 1%t January Material Rs. 64,000, Wages Rs. 54,800,
Other Expenses Rs. 7,650, Plant Rs. 11,300, Works certified
Rs. 1,43,000, works uncertified Rs. 3,400, Materials on hand (at
the end) Rs. 1,400, Plant value (at the end) Rs. 8,200, Cash
received from contractee Rs. 1,30,000, Material Returned to
store Rs. 400. Contract price Rs. 2,00,000. Prepare contract
account.

sareufl 1ib Casflwem geussiulL @m @UUBSSE® GereumLd
Qeweyset FHLBHSSILLLEI. ppoliGQumer op. 64,000, el . 54,800,
Qs Ceewayser . 7,650, sereurLid ep. 11,300, srandlsp Qupm
Geuenev . 1,43,000, greniisp Qupis Geuanad 5. 3,400, epai@Qummer
ansullmuy (@milude) ep. 1,400, gereuriib (@miludled) em. 8,200,
Qpréasbd Qupmg ep. 1,30,000. apoliQurmar HLmdnE HHwAwug
ep. 400, @liLpg elena . 2,00,000.

Guopaer_ SaaIOHMETS Qaran(® @ULIbS sandsams swTh&Esea|b.
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21.

22.

A product passes through two processes ‘A’ and ‘B’ then to
finished stock. It is found that each process is having 5% at loss
at weight and 10% scrap which is realisable Rs. 80 and Rs. 200
per tonne respectively. The following particulars relate to two
processes.

A B
Materials (in tonne) 1,000 70
Cost of material per tonne (Rs.) 125 200
Wages (Rs.) 28,000 10,000
Manufacturing expenses (Rs.) 8,000 5,250

Output in tonnes 830 780
Prepare process accounts. |
e Gummer ‘A° oppb B’ aern @rawm® LigpapsmeT SLHSI
puQurmerts L dpgl. @aleurmp ugeapllaid 5% &g
Quuy wpmb 10% sflejsmer Qsrambareng. slesmer wpanGul
Le @eami&E@ 5. 80 wpmibd 5. 200 erew eflpsliLilL gl SpssTamd
eflugriser Qe Lig (peDSEhEETaIS).

A B
epe i@ LIm(mL 6T (I_.GBTGSGTﬂG'L)) 1,000 70
gpolQumr@mLlser ellene (Let  genm&@) 125 200
gaad) (¢m.) ' 28,000 10,000
2 HusH Qaewey (¢m.) 8,000 5,250
2 pusH (Lesafien) 830 780

uq.q,osmg}é; SETEGSMETS SWMT QFIs,

From. the following information calculate total kilometers and
total passenger kilometer

Number of buses =5

Days operated in the month = 30 days

Trips made by each bus =4 |

Distance of route = 20 kms (one side)

Capacity at bus = 50 passengers

Normal passenger travelling = 75% of capacity
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